MoERFI BREBME(2024F 1A8)

K#

TR

log 3 e”
1. ?ém/%ﬁf(:/ (/ f(:z:,y)dy) dz \ZD2WT, ROFWIZEZ K.
0 1

(1) BRI K Z2HEETRLEE EOEDEED 2MRE L. (45)

(2) BXES K OMSIEF R e k. (65)

2. BIEKL f(z,y) = 2y? + 227 — 2 ORYEIZOWTHN, MifE% 5 2 % 1, MUKES X O8N
HZFTXTRD K. (105



3. ROBIIEDTHB LU 2 EHETDEZ KD K. (%6 )

(1) /12 (/Og(xy ) dx) dy

—

=

—_

+

&

Ned
QU
8
=%
<
T
Il

—N
®
s
—
17AN
<
A
\!.0
o
VA
&
VA

< | =

——

4. RD2EFEFIOVTHWICEZ L.
1= [[ 6se”dzdy, D={(wy) [0SyS10525y)
D
(1) M D % oy FH ECKRE XK. £ 1228 ORXESTEE. (8K)

2) ToEERDE (65



5. RO 2HEMBITITOWT, WYIREAZR 2T T OfEZRD K. (1 050D
I://(2x2+y2)dxdy, D={(z,y)|0£2c—y<2 —2Zz+y=0}
D

6. XD 2 HEFET DIE%Z MEFEZE 2 FHVWTKRD 5.
dedy, D={(z,y)|1<2’+y"<4,220,y=0}

T
I = B
//D o2+ 2
(1) z=rcosh,y=rsind &FT2LE YLy Ol |J(r,0)] = ‘
DX (450

A, y)| o 4
9. 6) ‘ ex

(2) ITofEzkD K. (8:)



7.

8.

RDBHNTBNT, FRUCH TR X2 2EA L. (B3, 71 25)

(1)

MM 22 +y? =122 FH 2=y —1, 2 =2 CHIEN I TDOEE V 1
RD2EHTTREINS.

vz//D dady, D ={(zy)]

R 2 = 1 — o DSFIMEE 22 + 9% = 1 IS X > TYI D IS N2 DRI
SIXRD2EREPICEI o TREINS.

S://D dxdy, D ={(z,y)]

G p(r,y) =22 +9y*—1=0 Db T, B f(z,y) =z + 2y DERKEL BMEZK

5.

(1)

DTRO YT E2HAE 3Bl EEZ L. ((1) 658 (2) 88D
or,y) =22 +y? —1=0 Db LT, f(r,y) DN EMEE 5 X 2 8% (a,b)
Y55 ZOLE (p.(a,b),0,(a,b)) # (0,0) THEDS, 7772 2DKRE
FHIEED a,b B X OREREB N L TRD 3D D L.

O) ®

®

(1) ZHOWTERAE &MEEZRD XK. (72721, &AM L B/MEDTFAEICDOWT
WBEKLZLSTRW)

RNAH F/MA

AR (BRAETR)



